AL W4161

AERARMEA FHNAENRE. ERSAZE), HERERE. BUFOMAKR, FENEHEE
RRET. AEEEERERSE.

® MHV-L-FRFIIFELR, MNEZREIMEASER
MHV-L-RERF, MMRREMIBEAEF

& XA TETLINS A HRIFT R FEL(EREP
=0.25mm),

o T[FABHRMNLEABEERFREEL, haET
MfE AT XS EEE.

& XHEFARKMEBREERFNIZI. BR, &
& THIE BB AN ENEIL.

R Iix=
> BEEY, BEA1.5SmmMRTIREIAAEIEE. P BEFENAABIET, FEARIIGEONES.
IR, MARFEIE, BERAFITNE, 2E¥ETIN, »MHV-LT 3% Bl E BIMEI MBI 32 A (RO) L.

> EAMAT8-32UNCIRHE, TTEERIZAH(PSTRSY), HikiER L. 1B AMAIAE AYIHE(ROC), 5(8-32UNCHIAR A2 4 (RO-UU).

LS AN )vAT

MHV-12.7L& 7

3-Cycle Thermal Deflectiom Test Graph

100 Chamber Temperature 60
8
80 40 —
g
2
60 Product Temperature 20 g
o
—_ Pitch Deflection £
k-] (]
£40 o F
= A
—_ Yaw Deflection
-
g 20
£
g
L)
20 "3 i iy
2
20 MHV-25.4L2& %]
0 1 2 3 4 _
Time [h] 3-Cycle Thermal Deflection Test Graph
A9 Chamber Temperature &0
L
80 40 'E'
2
Product Temperature i e
60 20 ¢
iy Pitch Deflection E
T =
£ 40 0
e Yaw Deflection . A
L ] ] P
o
v
3 |
8 ©
-20
0 1 2 3 4 5
Time[h]

MHV_C2301


https://jp.optosigma.com/ja_jp/catalogsearch/advanced/result/?name=&sku=ROC&sk_code=&cat_code=
https://jp.optosigma.com/ja_jp/bases/posts-poles/posts-poles.html?skey_diameter=5616&skey_screw=5466

2D
CAD

3D
CAD

(B4 mm)

L

MHV-12.7L-F
E SUSHIZS AERRE M4 X 10...24
SUSPIZR RIS 8-32UNC X 3/8.. 2
22
~ 2-15
i EE - pagoatiEd
" @ B
g g DL AR
125 BAEERIEE 29 B 3-8 FRUNTL
8 Il 514
@ .
g ‘Vj o
~
5 I —=® | d
21 |~ & ERGAIME o127/
M4X0.7 F2.7 WAAE d11.4
b2 F 15 N o =
< 1
SI i oy L Y
b = = i
- Y
~ 12.7
8-32 UNC 6
MHV-25.4L-F
B SUSFI7S fsE#E M4 X 10...3
SUSPIFS FIER4E 8-32UNC X 3/8...3>
3z
%2
A | AR
N © g
RalliE g0 \JILBIE
BAEEARE ':EI
18, \ g SHERML
2,
5 — )18 n
<
of |

b2 F3 g 2BE i M4X0.7 55

e &
gI ez '
O O 04 —f{-gs

205
1

2-4.5
~
o

ERERME p25.4/
WHOR d23

8-32 UNC /5.5
L 254 |\ 04587

MHV-12.7L-R

SUSHZNFIiRHE M4 X 10,24~
SUSHIZNFI RS 8-32UNC X 3/8...24"

22
2-1.5
DB ; FHTiREE
’ @ | D
e [ g g BRL8E
+ "
12.5 SEERATL 22— & ’ﬁﬁiﬁﬂii
g Il
o D14
@ |
) e 5_\ - Yy
o i ~ \:
I m o () :"O
21 o - EASGANE 0127/
M4 X0.7 iR2.7 EROE 114
D2 1S 10 = ’
3 1Rk
= TS
R
: DD
= Lo
o~ 12.7

8-32 UNC iF6

MHV-25.4L-R

H SUSPI7SFRMERE Ma X 10,34
SUSHIZ FIlig#E 8-32UNC X 3/8...37

# R EE R
[

ERGHENE 0254/

e s

EXOR ¢23
M4X0.7 5

N

o &

0o

D 28\6‘ Rz, 25

}

2-4.5

25

25.4

. 8-32 UNC iR5.5

$4.5 7L

FEHMR: THEN
FELE: T

MHV-12.7L-F MBI

MHV-12.7L-R ©12.7 2~7 ¢p11.4 2 MEMZEAN +2 +2 #90.7 #90.65 0.064
= z 92 ~ O 5 ;

MHV-25.4L-F 925 4mm 3~7 23 2 IBTZEA £1.5 +1.5 #0.37 #90.38 0.16
-25.41- 925 ~ ; 3 S

MHV-25.4L-R ©25.4mm 3~7 ¢23 2 MEMEN £1.5 £1.5 %037 #9038 0.16



https://pan.baidu.com/s/1tAp9_F4VqGgMZv1ca57iTQ?pwd=8888

	スライド番号 1
	スライド番号 2

